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RIER D B IRREERE

BA3—2 BEMICERTIEEESNIERICETHEEA/1) REEE | 20231
SEEOlE | BMES | 202058 2 | ERA — FELTOTA | BER AT o]
- SERMOTIRICHEET 514 SERMA
A TREDBHOEIEADKRES TEREOHBEIENDKRES TEREOBHDEIEADKRES TREOHBESIEADKRES
&2 N B | THROLOERE [ AOKEE | o, | TRELOKT | BE | DOREE N BE [ IRALDORES [ AOKREE | o o | LROLOES | BE | DOXEE
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/m%#8%%| 1.00| 000 ~ 0.95 114.30 |3mZi#BZ 5 -~ — - —| 100kN/m%#82%| 1.00 [11.16 ~ 1470 114.30 [3mZ#BZ5 -~ - - -
Zhllis 1.00| 095 ~ 874 100.00 | ZhList | 000 ~ 874 | 2.03 10.26 Zhls 1.00] 500 ~ 11.16 100.00 | ##Lklst | 5.00 ~ 1470 | 2.03 10.26
) 100kN/ Mm% 2% 1.00( 000 ~ 194 129.88 |3m%Ei#BZ % — ~ - - —| 100kN/m%#8%%| 1.00 |1055 ~ 17.92 129.88 |3mE#BZ 5 -~ - - -
Zh s 1.00| 194 ~ 972 100.00 | #hblst | 000 ~ 972 2.34 11.85 FhnLs 1.00 ] 500 ~ 10.55 100.00 | ZHhbllst | 500 ~ 1792 | 2.34 11.85
3 100kN/mM%E#BZ % 1.00| 000 ~ 159 124.32 |3mZEHEZ5 -~ — — —| 100kN/m%#E%%| 1.00 |10.53 ~ 16.00 12432 |3m%E#BZ5 -~ — — .
Zh s 1.00| 159 ~ 938 100.00 | ZhList | 000 ~ 9.38| 2.37 11.96 ZhList 1.00 ] 500 ~ 10.53 100.00 | Zhlist | 500 ~ 16.00 | 2.37 11.96
4 100kN/m%#E2 5| 1.00| 000 ~ 188 128.96 |3mZi#EZ 5 -~ — — —| 100kN/m%i#82%| 1.00 [11.15 ~ 18.00 128.96 [3mZEHEZ5 -~ - — -
Zh s 1.00| 1.88 ~ 9.67 100.00 | ZhList | 000 ~ 967 | 2.58 13.02 ZFhLis 1.00] 500 ~ 11.15 100.00 | =Hhlist | 500 ~ 18.00 | 2.58 13.02
5 100kN/m%#E%%5| 1.00]| 000 ~ 209 132.33 |3m%i#BZA% -~ - - —| 100kN/mi%i#E%%| 1.00 [11.18 ~ 1917 132.33 [3mZ#BZ5 -~ - - -
Zhust 1.00| 209 ~ 987 100.00 | #hbList | 000 ~ 987 | 258 13.05 ZhLst 1.00 ]| 500 ~ 11.18 100.00 | #hList | 500 ~ 1917 | 2.58 13.05
6 100kN/mM%E#BZ % 1.00| 000 ~ 209 132.33 |3m%E#B %% -~ — — —| 100kN/m%#E%%| 1.00 |[11.18 ~ 19.17 132.33 |3m%E#EZ 5 -~ - — .
ZhLs 1.00| 209 ~ 987 100.00 | ZHhList | 000 ~ 987 | 2.58 13.05 Zhlist 1.00 | 500 ~ 11.18 100.00 | Zhllst | 500 ~ 19.17 | 2.58 13.05
. 100kN/M%ZH#E2 % - -~ — —|3mZEi#EZD -~ — — —| 100kN/M%E#E 2% — -~ — —|3mEHEZS -~ - - -
Zh st 1.00 | 000 ~ 3.34 4241 | #hbilst | 000 ~ 334 246 12.41 Zhllst 1.00 | 500 ~ 6.80 4241 | #hLlst | 500 ~ 6.80 | 2.46 12.41
8 100kN/mM%Z#B % % - -~ - —|3mZBEZD -~ - - —| 100kN/mM%E#EZ % - -~ - —|3mZE#BZD -~ - - -
Zhilst - -~ - —| Fhlist -~ - - - Zhrist - -~ - —| £hrLis -~ - - -
100kN/M%Z#E % % ~ 3ImEHZD ~ 100kN/mM%Z#EZ 5 ~ 3mEBAD ~
Fhlilst ~ Zhiis ~ Zhilst ~ Thllst ~
100kN/mM%Z#E 2 % ~ ImEREZD ~ 100kN/mMi%ZH#8Z % ~ ImERZD ~
ZhiList ~ Zhilsn ~ Zhiist ~ Zh Lot ~
100kN/M%Z#B 2 % ~ 3ImEHZD ~ 100kN/mM%ZH#BZ % ~ 3mZHBAD ~
Fhllst ~ FhLlst ~ Fhilst ~ zThhist ~
100kN/mMZ#8Z % ~ ImEFHEZD ~ 100kN/mM%Z#8Z % ~ 3mEEZAD ~
Zhllsh ~ Fhllst ~ ZThllst ~ Fhlist ~
100kN/M%Z#E 2 % ~ 3mEHEZD ~ 100kN/mM%Z#BZ % ~ ImERZD ~
ZhLst ~ Fhilst ~ Zhiist ~ ZhList ~
100kN/mM%Z#B 2 % ~ 3mEHZD ~ 100kN/mM%Zi#BZ 5 ~ 3mZHBAb ~
Fhlist ~ Fhllst ~ Fhilst ~ zhkist ~
100kN/ Mm% %% ~ ImEHEZD ~ 100kN/mM%Z#BZ % ~ 3ImEEZD ~
Zh st ~ Zhiisn ~ Zhiist ~ zhList ~




